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Ministry of Higher Education &
Scientific Research

Southern Technical University
Technical Institute / Qurna

Dep. of Computer Systems Techniques

Subject : Data Base
Class : Second— Morning
Time : Three Hours
Date: &/ / &£ /2018

empt

Note: Answer FIVE Questions and question SIX obligatory

Q1/ Define five only :
1- Data Base 2- Record 3- Parameters 4- Key Field 5- SEEK
6- DB Administrator (20 Mark)
“-\\
Q2/A/ What is the Primary Key ? What are its characteristics ? (10 Mark)
B/ Explain the Hierarchical model . What are its disadvantages ? (10 Mark )
Q3/ A/ / Explain Weak Entities and draw the diagram about this . (10 Mark)
B/ What are physical deleting command with examples ? (10 Mark)
Q4/ A/ What are the Display Commands with examples ? (10 Mark)
B / Write a program to calculate the number of passed and the number of failed, for .
students those in first stage only by using SCAN command. (10 Mark )
Q5/ A/ Explain Functional Dependency ( FD) with example . (10 Mark)
B / Write a function to calculate the maximum value between two numbers? (10 Mark)

Turn the page —>




Ministry of Higher Education &
Scientific Research

Southern Technical University
Technical Institute / Qurna

Dep. of Computer Systems Techniques

Subject : Data Base
Class : Second—- Morning
Time : Three Hours
Date: ¢4 / £ /2018

Q6/ Answer the following questions by using VFP commands: (20 Mark)

1. Create a new table named (Stud) contains the following fields:

N
C
L
b -
€
N
L
D
C Ak N
2. Append five students records to this table:
3. List all records for passed students only?
4. Delete physically all table records.
5. Search for the failed students ?
| -
BEST OF LUCK
AV
Lecturer Headof department

Assist . Lec. Nabeel Shaway Dr. Hayder Ahmed Abdulmohsin
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Ministry of Higher Education &
Scientific Research

Subject: Data Structure
Class: First — Morning Date:
Southern Technical University

A .5 Time: Three Hours
Technical Institute / Qurna . TN
e NN T o)
Dep. of Computer Systems Techniques %ég@“‘c %@f Date: 1o/ & /2018

ferenus)

Final Exam 2017/2018 - Model no. ( 3 )~ ( F\SsY, ) Attempt

Q1 In this graph M find:
1. Adjancy Matrix . 2.The degree of each vertices.

M (20 mark)

fFincludediostream. >
int main ()

{

int vi=15,v2=20;

int *p,*qg :

p=&vl;
q=&v2;

*q = *p+10;
P = *p+10;
cout << "vi
cout << "v2
return 0;

" <<vl <<endl:;
" <<v2 <<endl ;

(10 mark)
B: In 2D array with size 4*4 Find the address of element X[2,2] ,if you

know that base address = 7008, by row major order . (12 mark)

/g L (A f m —+ |




Q3 :A:Usin stack to convert the following string expression from infix form

to postfix form :
_ a+b¥*c—d/e*f
B: write a procedure to check if stack is empty or not. ' (20 mark)
Q4: Answer the following ( chose three only each branch 6 marks) : (18 mark)

1- list the steps of bubble -Sort algorithm ,then arrange
elements in ascending order in following list :

R
98 221145874

2- write a procedure of binary search .
3-list the steps of preorder traversing algorithm in tree (NLR),with an

~  example.
4- codes steps to delete an element in the end of linked list.

Q5: in following tree , answer : (20 mark)

1-The leaves of tree are - - T i = = ;
2- The father of G node is - - - .-

3- The level of node E is - - 2- - - - .

4- Tree's height =---4----.

5- The degree of B_node is - sl

Head of Department
Dr. Hayder Ahmed Abdumlohsin




Ministry of Higher Education &
Scientific Research

Southern Technical University
Technical Institute / Qurna

Dep. of Computer Systems Techniques

Subject: C++ Programming
Class: First — Morning
Time: Three Hours

Date: 244/ L /2018

Final Exam 20172018 - Model no. (3) ~ (£ i #¢ ) Attempt

Note: Answer All Questions

Q1/ Write a C++ program to read a person’s weight (in kilograms) and height (in meters),
then calculates and outputs the person’s Body Mass Index (BMI) as follows:

weight

B i x height

(16 marks)

Q2/ Write a C++ program that computes the value of F by using the following series using:

(ANSWER ONE ONLY)
(A) for statement. (B) while statement.
2 4t 46
F 1—§*+ '5—"—??‘{- (10terms)

((16 marks)

Q3/ Write a C++ program using do...while statement that asks the user to enter # positive
integer numbers, then calculates and prints: (i) sum of odd numbers, (ii) sum of even
numbers and (iii) number of entered Zeros.

(16 marks)

Q4/ Write function Square that returns square of a number and inline function cube that
returns cube of a number. Then, using these functions, write a C++ program that computes
the following equation:

y=x3+2x2-3x+4

(16 marks)

QS/ Write a C++ program to compute the sum of main diagonal elements and the sum of
elements lower the main diagonal in a two-dimensional array A with 4 rows and 4
columns? Use C++11 to define the array.

(16 marks)

] dadiali ‘_.EU
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Q6/ What do the following programs print? (20 marks)

#include <iostream>
using namespace std;

int inline fun (int x=4, int y=3)

{
int z = x*y+y;
¥
if(y>0)

fun(z,y);
else
return z;

}

int main()

{
int x=2, y=60;
cout << fun(x);
return 0;

# include <iostream>
#include<array>
#include<algorithm>
using namespace std;
int main()
{
array<int,7> M ={};
for (size_t i=0;i<M.size();++i)
M{[i]+=i;
sort (M.begin(),M.end());
for (int index : M)
cout << index <<" '
cout << endl;
bool found = binary_search ( M.begin(),
M.end(), 5 );
cout << 5 << ( found ? " was'' : ' was not"")
<< " found in array M";
return 0;

}

#include <iostream>

using namespace std;

int main()

{
int count = -1;
while (count <= 8)

{

if((count==4) || (count==6))

#include <iostream>
using namespace std;
int main()

{
int x=10, flag=1;
for( ;flag!=0; )

{

--x;

continue; cout << x++<<" ";
else X--3
cout << count++<<'" '3 if(x==5)
if(count ==5) flag=0;
break; }
else return 0;
cout << ++count << endl; }
}
return 0;
} e
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: Note: Answer five Questions
* Q1/ Find Domain and Range as follows :
4
= x-3
x D y=0- x*) @)Y =527
=
* @) y=+8—2x2 (20 Mark)
b
d
:QZIA/ Finda% as follows vy = 3(v® —2)? u = (5v% —v°) (10 Mark)
* B/Fid [V7x—5dx N (10 Mark)
»
=
g Q3 / Find integration of follows (20 Mark)
g (1)'[ csc4x
: @) [ x3e**dx
o
: 3 -7 =2 B
XQUA/If A= [0 11] and B=|-5 09 | findB.A if exist (10 Mark)
. 0 -23
n
» dy
gB/Find D xSiny = (y Cos 2x — 3y?) (10 Mark)
;o dx Y
b ;
" 5 =7 0
* 05/ Find inverse of matrix (—4 5 8 (20 Mark)
: 0 0 12
: 3
z Q6/ Find graph functions by using (x- axis) and (y- axis) :
= _ 321 . y__.3_1
§ ) y= (2) z=% (3) == D (20Mark)
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Final Exam 2017/2018 - Model no. ( 2 ) — (5 \{8-% ) Attempt

Q1: Find the following . chose 5 only :
1.(11001.1), = ( )0

2.(14C.8)16 =( )10

3.(11001010100011), =( )s

4.(458)10 = ( )BcD
5. (110110), - (1100), =

6. (127); + (356)g = )
7 (E5C6)16 - .(B89)s6

(20 mark)

Q2:A: Draw logic circuit for following expression :

(10mark)
(A_ +B) (A+BTI-C) C—
B:Using Boolean Algebra and truth table to prove: (10 mark)
(; 2 25 3 (X—(Y+X) )= X—Y
6-3: A: Using Karnuph map to simplify :
ABE+’;;3-E + A;C ¥ ABC + ABC + ABC (10 mark) &
B: Find 1’s & 2’s complement for numbers (10 mark)
(11010101)2 5 19 |

Q4. A:- -I-)raw t-l;:-:I-K flip flop circuit with its truth table . (-1- 0 mark) N

B:What are Shift Registers type ? (10 mark)




-Bit synochrounas binary
(10 mark)

roprocessors ?
(10 mark)

Q5:A: Draw the waves ( time diagram ) for 3

counter ( Down States ).
B: What are types of common registers in 8058 mic
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